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দি¢ণ ĴাĜƐ সংখ�াªিল Ĵেűর পূণƳমােনর িনেদƳশক। 
পরী¢াথƳীেদর যথাসŕব িনেজর ভাষায় উóর িদেত হেব। 

1. Answer any five of the following questions:                                 2x5=10 

িনŏিলিখত Ʊয Ʊকান পাচঁিট Ĵেűর উóর দাও:  

a) What, according to Descartes, are the three types of ideas? 

ƱদকােতƳর মেত িতন Ĵকার ধারণা কী কী? 
b) What is knowledge according to Locke? 

লক Ñান বলেত কী Ʊবােঝন? 
c) What does Berkeley mean by abstract idea? 

অমূǆƳ ধারণা বলেত বাকƳেল কী Ʊবােঝন? 
d) What is attribute,according to Spinoza? 

িƒেনাজার মেত ªণ কী? 
e) What is Monad according to Leibnitz? 

লাইবিনেজর মেত মনাদ কী? 
f) What is synthetic judgement? 

সংেŸষক অবধারণ কােক বেল? 
g) What does Hume mean by'relationsof ideas'? 

িহউেমর মেত ‘ধারনার সŔĥ’ কােক বেল? 
h) What is parallelism? 

সমাĜরালবাদ কােক বেল? 
2. Answer any four of the following questions:                              5×4=20 

িনŏিলিখত Ʊয Ʊকােনা চারিট Ĵেűর উóর দাও : 

a) Explain Hume’s distinction between impressions and idea. 

িহউম মুČণ ও ধারণার মেধ� Ʊয পাথƳক� কেরেছন তা ব�াখ�া কেরা। 
b) What is the first principle of Descartes’sPhilosophy? How does he arrive this principle?       1+4 

ƱদকােতƳর দশƳেন Ĵথম নীিতিট কী ? িতিন িকভােব এই নীিতেত উপনীত হন ? 
c) What is skepticism? In what sense, Hume is a skeptic?           2+3 

সংশয়বাদ কােক বেল? িহউম কী অেথƳ সংশয়বাদী? 
d) ExplainLeibnitz'stheory of Monad? 

লাইবিনেজর মনাদতô ব�াখ�া কেরা। 



e) How doesSpinoza explain the relation between substance and attribute? 

Čব�ও ªেণর সŐকƳেক িƒেনাজা কীভােব ব�াখ�া কেরন? 
f) Is Berkeley a Solipsist? Give adequate reason for your answer.          1+4 

বাকƳেল কী অহংসবƳƗবাদী? উপযু� যুি�সহ আেলাচনা কেরা। 

3. Answer any one of the following questions :                 10×1=10 
িনŏিলিখত Ʊয Ʊকােনা একিট Ĵেűর উóর দাও: 

a) Explain in detail Descartes’ doctrine of mind-body dualism.                       

ƱদকােতƳর Ʊদহ-মেনর Ʋďতবাদ তôিট িবশেদ ব�াখ�া কেরা। 

b) How doesKant distinguish between analytic and synthetic judgments? Explain in thisconnection the 
nature of the proposition‘7+5=12’.                 5+5 

কাĖ কীভােব সংেŸষক ও িবেŸষক অবধারেণর মেধ� পাথƳক� কেরেছন?এ Ĵসে¿ ‘7+5=12’ এই বচনিটর Ĵকৃিত 

ব�াখ�া কেরা। 

c) What is the causality? Give a critical estimation of Hume’s theory of causality.        2+8 

কারণতা কী ? িহউেমর কাযƳকারণ তেôর একিট সিবচার উপƐাপন কেরা। 
 


